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SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 35,000
01 A& HI 100,000 0 100,000
Osoll oHSH0ISE MEHELZ ZdAEY 100,000
< 65,000
[ia 35,000
goligt IFHL I =4 164,000 0 164,000
= 82,000
= 24,600
s 57,400
401 AIEHI L 201 164,000 0 164,000
= 82,000
< 24,600
[ia 57,400
01 A& Bl 164,000 0 164,000
goliet FSEYZH =4 164,000
= 82,000
= 24,600
e 57,400
A= 72 207,500 150,200 57,300
SSH0HI3a AlE |SX2el 8,000 8,000 0
401 A& HI K 201 I 8,000 8,000 0
01 A& Bl 8,000 8,000 0
Ozt AIEE2 |Xl2eltl 8,000
HEFANEE FAZAY 49,500 45,000 4,500
201 Let24] 49,500 45,000 4,500
01 At 2t 2l 1,500 0 1,500
OZFANEE RAZe S3FL(ELEFE) 1,500
02 2324gHl 48,000 45,000 3,000
OZANEE RA2e 250,000& 1241« 123 36,000
O2ZANEE HIRSB 12,000
2FI|EE AIEE SRl ALY 130,000 50,000 80,000
401 Al HIZ 2018 130,000 50,000 80,000
01 A& HI 130,000 50,000 80,000
O2&I|Et AIE=2 RXZCALY 130,000
22BN = S 2eEd 20,000 30,000 210,000
401 AIEHI L 2CHYI 20,000 30,000 210,000
01 A& HI 20,000 30,000 A 10,000
oZId F=H ISsTA 22EH 20,000
XIS EHX ZdAS 8,709,000 8,806,500 A 97,500
= 3,750,000
< 1,775,000
s 3,184,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHUYRLIA ZTHAE ZLHANY(HE)(HEAS) 1,000,000 100,000 900,000
== 650,000
= 350,000
401 AIEHIZL 201 Y| 1,000,000 100,000 900,000
o= 650,000
= 350,000
01 Al&H| 1,000,000 100,000 900,000
OYALIA ZYAE XHANY(HEH) 1,000,000
& 650,000
= 350,000
HLYXNGFHE PEAMY(EX) 7,700,000 8,600,000 A 900,000
= 3,750,000
& 1,125,000
= 2,825,000
401 AlEHIZL £ 0HY| 7,700,000 8,600,000 »A 900,000
= 3,750,000
& 1,125,000
= 2,825,000
01 Al&EH| 7,700,000 8,600,000 A 900,000
OMNAXNSHEEH HE A 7,700,000
= 3,750,000
= 1,125,000
= 2,825,000
HUXRAY S 45 9,000 106,500 A 97,500
201 et 9| 9,000 5,500 3,500
01 AR 22l ] 9,000 5,500 3,500
OMNEXNR ANERIF A £
120,000 25 23| 6,000
0T NEANS BN 2Y
100, 000& 15 x23| 3,000
USEXSot=e2ZANES 1,400,000 552,000 848,000
& 845,000
= 555,000
Lt N 1,400,000 552,000 848,000
& 845,000
o 555,000
X O (HEEZ 22X E-)(ME)(HEAIY) 1,300,000 452,000 848,000
& 845,000
= 455,000
401 AlEHIZL 2 0HY| 1,300,000 452,000 848,000
& 845,000
= 455,000
01 Al&EH| 1,300,000 452,000 848,000
ogs TR XM (ME) 1,300,000
== 845,000
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| o 455,000
Setm X AMAESHEHESEI} 100,000 100,000 0
401 AlEHIZ 201 Y| 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OHS LA AMAZFEHAASRIANIEYE 100,000
MAFAZE 2 22 3,550,000 955,000 2,595,000
Fag 2,450,000
= 1,100,000
222 22 3,550,000 955,000 2,595,000
Fag 2,450,000
= 1,100,000
KNHEHLE X R (EX) 3,250,000 430,000 2,820,000
g 2,450,000
= 800,000
401 AIEHIZL 2 0HY| 3,250,000 430,000 2,820,000
Fag 2,450,000
= 800,000
01 Al&H| 3,250,000 430,000 2,820,000
OMNZSUZE 2 2ZUE oIl REAY 3,250,000
g 2,450,000
= 800,000
22329 E X 04 300,000 0 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
O337Y9 EXOH= 300,000
2 3T 2,006,905 2,960,904 A 953,999
= 775,800
o= 452,410
= 778,695
2N E 23 M 699,000 545,457 153,543
= 472,300
= 104,850
= 121,850
DA A2l DE2F =AY 94,000 79,800 14,200
= 65,800
= 14,100
= 14,100
401 Al HI L 2 0HHI 94,000 79,800 14,200
= 65,800
= 14,100
iy 14,100
01 Al & H| 94,000 79,800 14,200
ODA Watel D22 HlE=AS 94,000,000 94,000
= 65,800
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< 14,100
s 14,100
IIRNE 23 L SE23M E+-FH N (A 25,000 25,000 0
HE S=2 ESMY)
= 17,500
< 3,750
s 3,750
206 = Hl 25,000 25,000 0
= 17,500
< 3,750
s 3,750
01 M2 4l 25,000 25,000 0
OFAIIEE Es(S21%017Y) 25,000
= 17,500
= 3,750
s 3,750
1y sts0tE AEE E=ZH A 85,000 0 85,000
= 42,500
< 12,750
s 29,750
401 Al HI K 201 I 85,000 0 85,000
= 42,500
< 12,750
s 29,750
01 A& HI 85,000 0 85,000
O1nd ssitS NEHE EFUlA Y 85,000
= 42,500
< 12,750
[ia 29,750
ZIKNE 23 L SESAMM E+FE N (D] 30,000 50,000 220,000
HE S22 =X AAY)
= 21,000
< 4,500
s 4,500
207 & O &l 30,000 50,000 A20,000
= 21,000
< 4,500
s 4,500
01 2284 30,000 50,000 A20,000
OHAHIIEE Sl S=ZAAY 30,000
= 21,000
< 4,500
[ia 4,500
4 sstsd=2a =AY 105,000 77,514 27,486
= 73,500
< 15,750
i 15,750
401 Al HIZ 201 8] 105,000 77,514 27,486
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Oy ARC SaET FEINEQ 2y 6,000
< 1,800
[ia 4,200
ONd 4E SaHF o= & 6,000
< 1,800
2 4,200
ODS DHOHSFAOINTA S &gIIFor
a4y 6,000
< 1,800
i 4,200
e AN ZHAY 34,000 0 34,000
= 17,000
s 17,000
401 Al HI K 2018 34,000 0 34,000
< 17,000
s 17,000
01 A& HI 34,000 0 34,000
ODnHE AAHNMNI HHAL 34,000,000 » 14 34,000
< 17,000
[ia 17,000
8 S2A ZHAY 38,000 0 38,000
< 19,000
s 19,000
401 Al HIZ 2018 38,000 0 38,000
< 19,000
s 19,000
01 A& HI 38,000 0 38,000
ONH SAA EHAN 38,000,000& =14 38,000
= 19,000
s 19,000
DHE FaE NI FEFLIAY 12,000 0 12,000
= 6,000
[ia 6,000
401 AlEHI R 2 0hY| 12,000 0 12,000
< 6,000
s 6,000
01 A& HI 12,000 0 12,000
Ond Zitel MO FHEH ALY
12,000, 000& 14 12,000
< 6,000
[ia 6,000
D8 2EN UHSH 2252 3289 20,000 0 20,000
207 & RO ] 20,000 0 20,000
01 A7 39H] 20,000 0 20,000
O1Nd 2EM HEX BE2523 =24
20,000,000 » 14! 20,000
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01 A& HI 12,000 0 12,000
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6,000
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EUNLY
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22,000
22,000

UL

401 AIEHIZ 2 I 44,000 0 44,000

22,000
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EUNE
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EUNY
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 200,000 0 200,000
< 100,000
s 100,000
01 A& HI 200,000 0 200,000
ONHdSH EX ¢ 242 He
200,000,000 =14 200,000
< 100,000
s 100,000
e 2stel AX0cHEs 23T H ALY 11,000 0 11,000
= 3,300
< 2,695
s 5,005
401 Al HI K 201 I 11,000 0 11,000
= 3,300
< 2,695
s 5,005
01 A& HI 11,000 0 11,000
ODnY 23tel AXeHEa 23BN H|
A 11,000
= 3,300
< 2,695
fia 5,005
e ORI =UH ST E ZHIAY 11,000 0 11,000
= 3,300
< 2,695
s 5,005
401 A& HI K 201 I 11,000 0 11,000
= 3,300
< 2,695
s 5,005
01 A& HI 11,000 0 11,000
ODnY OlLEIET=LH S CHLHE HHIA
A 11,000
= 3,300
< 2,695
s 5,005
FEEM EE 192,390 347,390 A 155,000
= 26,400
< 7,920
s 158,070
SE2MAA 58,300 58,300 0
307 21201 A 58,300 58,300 0
03 QIZtH N HE2HHEX 58,300 58,300 0
OREIsMAEsUEA(DE22H) 222
A& 44,000
ORERMAEFUEA(DEsR) 222X
2 14,300
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SFNEAAd 13,090 13,090 0
307 2Iz2t0| A 13,090 13,090 0
02 DIZHEAAIRE E X 2,750 2,750 0
OZHEANH SAIX A 2,750
03 ISP ESIHIEX 10,340 10,340 0
oOondskn 29X 10,340
DEQLZUAE LN SAES 55,000 20,000 35,000
401 Al HI L 2 0HHI 55,000 20,000 35,000
01 Al& H| 55,000 20,000 35,000
oM N SAESALY
55,000, 000& = 14! 55,000
S3=nF A BIXIAFE 66,000 66,000 0
= 26,400
= 7,920
= 31,680
101 21 214| 66,000 66,000 0
= 26,400
= 7,920
iy 31,680
04 JIZtHIZ22NSEES 66,000 66,000 0
ORSUELNEA QAU (DE2EHEZS, D
HsREZ3) 66,000
(OPIE=3=| 1,822,480& x12& x2H 43,740
= 17,498
& 5,479
= 20,763
O Xt 69,760 15 x2H 2,093
= 837
& 24
= 1,232
oAz
8,720 x1.5%x8A| 2t x52F x2 10,883
= 4,353
o=} 1,305
= 5,225
o4 B8 2 28,427,200 x13% 3,696
= 1,478
&< 443
= 1,775
O& &2 77,0602 30 x(365/365)x2H 4 624
= 1,849
o= 554
= 2,221
Ol =tdl s 964
= 385
& 115
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| | o 464
HdSAHE BEEEHI 541,000 693,400 A 152,400
=2 270,500
< 129,850
s 140,650
e 22 USH H=ESA 380,000 380,000 0
= 190,000
< 95,000
s 95,000
402 2I2H X201 M 380,000 380,000 0
= 190,000
< 95,000
[ia 95,000
02 QI 2 AL EZ(OI X TH ) 380,000 380,000 0
Ond 2= S HESM
380,000,000& =14 380,000
= 190,000
= 95,000
i 95,000
HdEAME STHALAE RAE=AY 54,000 41,400 12,600
= 27,000
< 8,100
s 18,900
401 AIEHI L 2 CHEI 54,000 41,400 12,600
= 27,000
< 8,100
s 18,900
01 A& HI 54,000 41,400 12,600
OXMEME YHAAY |X, EHI(24Y,
ZOJAL, S AL, AL, HSA
10,800,000 *5J4 2 54,000
= 27,000
< 8,100
[ia 18,900
20223 MESALE 2SS AL STHAIAE S ALY 107,000 0 107,000
= 53,500
< 26,750
e 26,750
402 RIZ2EXR20l A 107,000 0 107,000
= 53,500
< 26,750
e 26,750
02 DIt 2 AL EZ (01X TS ) 107,000 0 107,000
02022 HSAE 2EAF EHAIAE 2SAHS
107,000, 000& 14 107,000
= 53,500
< 26,750
[ia 26,750




2AMd: 2322
M 2N
o2l NEHXE 23 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NEHXNEZ23 50,000 250,000 A 200,000
ANEHIXNE 23 M3 50,000 90,000 240,000
401 AIEHIZ 28I 50,000 90,000 240,000
01 A& tl 50,000 90,000 240,000
OX&E -HXNE=2stM &l 50,000
S 2t ALK& 13,500 63,500 A 50,000
LM H HA X2 13,500 13,500 0
201 £B-2dH| 13,500 13,500 0
03 A2 Z Hl 13,500 13,500 0
OLMES AKX 13,500
Z 3 22l 53,015 80, 157 AN2T7,142
=St 22 53,015 80, 157 N2T7,142
101 14 Hl 8,669 22,127 A 13,458
04 JIZHHZ2XREES 8,669 22,127 A 13,458
ON=ZY S 2Y 144 ,4813 x5 x33| x4H 8,669
201 et 13,096 26,380 N 13,284
01 At 221l 10,840 14,340 A 3,500
O gBt=+=&H| 5,800
O=3tMztel 225 +8
100, 000& 401 &+ 12& 4,800
O2MuIXl HIB (280 ) #¢ 1,000
o=zg=¢ 5,040
O MAZ NHEFE
70,0003 «3H #23| x 128 5,040
02 8323l 2,256 12,040 A9,784
o0z22= % HA 2,256
O=stM2el I3 120,000& =128 1,440
Oz B=s&4 Fsx+HE 300
O=sMae Motz 25,000& 123 300
O3 M= =&AL HA4E HOoEHES
6,000 *x30 128 216
203 YR =2l 1,000 2,000 21,000
03 A FAH S Z=AY| 1,000 2,000 21,000
O=3M&cgdRFL 10,000& 10 103l 1,000
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
o&EdIIgE B3 Mg #¢ 1,000
301 LPEAS 29,250 28,650 600
12 JIEtE4 3 29,250 28,650 600
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453,724
257,512
563,193

1,274,429

Mo H

506,749
354,724
76,012
76,013

506,749

Mo

95,940
67,158
14,391
14,391

95,940

401 AIEHIZ 2 THYI

Mo H

95,940
67,158
14,391
14,391

95,940

01 A€ dl

O1nd WaelDEZ =S EHIM

Mo A

95,940
95,940

67,158
14,391
14,391

95,940

kJ
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rx
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HO
H
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e
Ha
Hr
0

Mo

107,000
74,900
16,050
16,050

107,000

401 AIEHIZ 2 THYI

EURRINY

107,000
74,900
16,050
16,050

107,000

01 A& HI
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e
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107,000

107,000
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288,178
201,724
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288,178

401 AIEHIZ 2 I
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288,178
201,724
43,227
43,227

288,178

01 A& HI

288,178
288,178
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
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Ol
0y

201,724
43,227
43,227

Mo

e ssts02T 1082 Al2 XA 15,631 0 15,631
10,942
2,344
2,345

HH A

401 AIEHIZ 2 I 15,631 0 15,631
10,942
2,344
,345

HH A

no

01 A& HI 15,631 0 15,631
O sssI=22 1082 AT AH480M) 15,631
10,942
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2,345

Mo
N

SXNEIIOIRH 350,000 0 350,000

155,000
195,000

EURLY

]
0x
O
to
O
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200,000 0 200,000

80,000
120,000

M H

401 AIEBIZ 2 THYI 200,000 0 200,000

80,000
120,000

EUNLY

01 A€ HI 200,000 0 200,000

O SASUHSE L= A, S=U3 200,000
80,000
120,000

EUNE

DY HENMEY ZLLZ A 160,000 0 150,000
75,000
75,000

UL

401 AIEBIZ 2 I 150,000 0 150,000

75,000
75,000

M

01 A& HI 160,000 0 160,000
Ond UHFMEY HLL=IAM 150,000

75,000
75,000

il

M H

0
og!
Mo
tor
=
H
Iy

160,000 0 160,000
64,000
16,900
79,100

HH W

d=us2 243 X 45,000 0 45,000
18,000

5,400
21,600

MW
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